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og |4 BALER| [242630] (250, 420)] 190,300] (195,080)|+ [ 2. 400] (2,470) x M | 1,880 (1, 960) | xmHE (7.790)[  (0x mEx)
ox 3 & ®| | 250420 (313,020)| 198,090 (260,690)|+| 2 470 (3,020) xmEE | 1,950 (2 490) xmEE 7.79|  70xmEE
S | gg |1. 2®R| | 313020 (390,980)| 260,690  (338.650)|+| 3,020] (3,800) x ik | 2,490 (3,270) x
El w| | 390, 980 338, 650 +| 3800 xmax | 3,270 X NEE
A | pg |#®ALER| | 131.700] (189,490)[ 105,640] (113, 880)| +| ™ 1,280] (1, 360) x &= | 1,080] (1, 100) x M= (7,790 (0x mEx)
N 3 #& ®| | 139,490 (202 090)| 113,330 (175,930)|+| 1,360 (1,910) xm&=& | 1,100 (1,650) x &% 7.79|  70xmEE
20A | .o [1. 2me| [ 202,090 (280,050)| 175,930 (253 890)|+| 1.910] (2,690) | xfnrE | 1,650 (2,430) x rE
FT | 7 g w| | 280, 050 253, 890 +| 2600 xmax | 2430 X NEE
DA | pm [AEULER 94, 600] (102, 390)| 77,160 (84, 950) |+ 920 (990)| x MEX 750]  (820) x MEX (7,790 (70X mEx)
S 3 & | | 102300 (164,990)| 84,950 (147,550)|+ 990, (1,540)| x &= 820] (1,360) x mE* 7.79|  70xmE®
0A | g [1. 2me| [ 164,090 (242,950)| 147,550 (225, 510)|+| 1,540 (2,320) | xfngE | 1360 (2,140) x ek
FT | °7 g B | 242 950 225,510 +| 2320 xmEE | 2,140 X g
S| om [AEULR 76,360 (84, 150)| 63,280 (71, 070) |+ 7400 (810)] x MEX 610]  (680) x MEX (7,790 (0x mEx)
S 3 B R 84,150 (146,750)| 71,070 (133, 670)|+ 810, (1,350)| x mE= 680| (1,220) x mE* 7.79|  70xmE®
A | [T 2me| [ 146,750 (224 710)| 133,670 (211,630)|+| 1,350 (2,130)| xpngmE [ 1,220 (2,000 x ek
FT | 7 g w| | 224,710 211, 630 +[ 27130 xmzx | 2,000 X NEE
A | om [AEULER 71,000 (78, 790)| 60,530 (68, 320) |+ 690]  (760)| x MEX 580 (650) < MEX (7.790)[ (70X mEx)
B 3 B R 78,790 (141,390)| 68,320 (130, 920)|+ 760 (1,300)] x mE= 650| (1,200) x &% 7.79|  70xmE®
80A | .o [1. 2m®E| [ 141,390 (219,350)| 130,920 (208 880)|+| 1,300 (2,080)| xfnEE | 1,200 (1,980) x ek
FT %7 g w| | 219,350 208, 880 +| 2. 080 xmzx | 1,980 X NEE
5IA | pm [AEULR 62,000 (69, 880)| 53,370 (61, 160) |+ 600]  (670)] x MEX 510]  (580) x MEX (7,790 (70X mEx)
N 3 B R 69,880 (132 480)| 61,160 (123, 760)|+ 670 (1,210)] x mE= 580| (1,120) x mE* 7.79|  70xmE®
60A | .o [1. 2| [ 132,480 (210, 40)| 123,760 (201, 720)|+| 1.210] (1,990)| xfngeE [ 1120 (1,900) x EE
ET |77 g w| | 210,440 201, 720 +[ 1,900 xmeEE | 1,900 X NEE
A | om [AEULR 55,810 (63, 600)| 48,330 (56, 120) |+ 530]  (600)| x MEX 460]  (530) x MEX (7,790 (70X mEx)
N 3 B R 63,600 (126,200)| 56,120 (118,720)|+ 600, (1,150)| x M= 530| (1,070) x &% 7.79|  70xmE®
T0A | oo [T 2me| [ 1262000 (204 160)| 118,720 (196 680)|+| 1,150 (1,930)| xfngeE | 1,070 (1,850) x e
FT %7 g w| | 204, 160 196, 680 +[ 1,930 xmzx | 1,850 X NEE
TA | om [AEUER 51,150 (58, 940)| 44,610 (52, 400) |+ 290 (560)| x MEX 420] (490) | x MEE (7,790 (70X mEx)
N 3 B R 58,940 (121,540)| 52,400 (115, 000)|+ 560, (1,100)] x &= 490 (1,040) x mE* 7.79|  70xmE®
80A | .o [1. 2| [ 121,590 (199,500)| 115,000 (192 960)|+| 1,100 (1,880)| xfngeE | 1,040 (1,820) x e
FT |7 g w| | 199,500 192, 960 + 1,880 xmzx | 1,820 X NEE
A | o5 |AEULR 47,480 (55, 270)| 41,670 (49, 460) |+ 450 (520)] x MEX 390]  (460) x MEE (7,790 (70X mEx)
N 3 B R 55,270 (117,870)| 49,460 (112, 060) |+ 520 (1,060) x mE= 460 (1,010) xmE* 7.79)|  70xmE®
90A | |1, 2m®| | 117.870] (195,830)| 112,060 (190,020)|+| 1,060] (1. 840)| xpusEsk | 1,010] (1,790) x sk
2000 FE| 7 |m B 195, 830 190, 020 +| 1,840 xm&Ex | 1,790 X B &
i [To | e [ARULE 41,040 (48, 830)| 35,810 (43, 600) |+ 390]  (460)| x MEX 330]  (400) x MEE (7,790 (70X mEx)
ae | Tl B ® 48,830 (111,430)| 43,600 (106, 200)|+ 460, (1,000)] x mE= 4000 (950) x mEE 7.79|  70xmE®
1004 1|1, 2| | 111,430 (189,390)| 106,200 (184,160)|+| 1,000 (1,780) x sk 950] (1,730) x MEX
FT %7 g w| | 189,390 184, 160 +[ 1,780 xmax | 1,730 X NEE
101A | 25 [AEHLR 39,000 (46, 790)| 34, 240 (42, 030) |+ 370 (440)| x MEX 3200 (390) x MEE (7.790)[ (70X mEx)
e 3 B R 46,790 (109,390)| 42,030 (104, 630) |+ 440 (980)| x mE= 390  (930) xmEE 7.79|  70xmEE
10A 1o |1 2| | 10030 (187,350)| 104,630 (182,590) |+ 980 (1, 760)| x mE® 930] (1,710) x mEx
=T | 7 g w| | 187,350 182, 590 +[ 1,760 xmax | 1,710 X NEE
A | 25 [ABHLR 37,260 (45, 050)| 32,900 (40, 690) |+ 350 (420)| x MEX 310]  (380) x MEE (7,790 (0% )
e 3 B R 45,050 (107, 650)| 40,690 (103, 290) |+ 420 (960)| x mE= 380 (920) xmEE 7.79|  70xmE®
1204 |1, 28| | 107,650 (185,610)| 103,290 (181, 250) | + 960, (1, 740)| x EX 920] (1,700) x E*
=T | 7 g w| | 185610 181, 250 +[ 1740 xmzx | 1,700 X NEE
121A | 25 [ABEHLR 35,780 (43, 570)| 31,760 (39, 550) |+ 330 (400)] x MEX 200]  (360) x MEE (7,790 (70X mEx)
B 3 B R 43,570 (106,170)| 39,550 (102, 150) |+ 400 (950)| x mE= 360  (910) xmEE 7.79|  70xmE®
130A |1 2| | 106170 (184,130)| 102,150 (180, 110) |+ 950 (1,730)| x mE® 910] (1,690) x MEE
=T |7 g w| | 184,130 180, 110 +[ 1,730 xmax | 1,690 X NEE
1851A | 25 [AEHLR 34,550 (42, 340)| 30,820 (38, 610)|+ 3200 (390)] x MEX 200]  (360) x MEE (7,790 (70X mEx)
e 3 B R 42,340 (104,940)| 38,610 (101, 210)|+ 390 (940)| x mEE 360 (900) x mEE 7.79|  70xmE®
oA 1 2| | 104940 (182,900)| 101,210] (179,170) | + 940, (1, 720)| x mE® 900] (1,680) x ME®
=T | 7 g w| | 182, 900 179,170 +[ 1720 xmzx | 1,680 X NEE
N 33,460 (41, 250)| 29,970 (37, 760) |+ 310 (380)]| x MEX 280]  (350) x MEX (7,790 (70X mEx)
B 3 B R 41,250 (103, 850)| 37,760 (100, 360) |+ 380 (920)| x mEE 350 (890) x mEX 7.79|  70xmE®
1804 1o |1, 2| | 103850 (181,810)| 100,360 (178,320) |+ 920 (1,700)| x E® 890] (1,670) x MEX
FT %7 g w| | 181,810 178, 320 +[ 1,700 xmax | 1,670 X NEE
B1A | 2g [AEULR 33,370] (41,160)| 30,100 (37, 890) |+ 310 (380)]| x MEX 280]  (350) x MEX (7,790 (70X mEx)
s 3 B R 41,160 (103,760)| 37,890 (100, 490) |+ 380 (920)| x mEE 350 (890) x mEE 7.79|  70xmE®
1004 o |1, 2| | 103760 (181,720)| 100,490 (178, 450) | + 9200 (1,700)| x E® 890] (1,670) x MEX
=T | 7 g w| | 181,720 178, 450 +[ 1,700 xmax | 1,670 X NEE
161A | o |4 BULR 32500 (40, 290)| 29,420 (37, 210)|+ 300 (370)] x MEX 270]  (340) | x MEX (7.790)] (70X mEx)
e 3 B R 40,290 (102,890)| 37210 (99, 810) |+ 370, (920)| x mE= 340 (880) x mEE 7.79|  70xmEE
1704 1o |1 2| | 102890 (180,850)| 99,810 (177,770) |+ 920 (1,700) x mE® 880] (1,660) x MEX
FT | 77 g w| | 180, 850 177,770 +| 1,700 x ek | 1,660 X P
rs |4 BHLR 31,710]  (39,500)| 28,800 (36, 590) |+ 290 (360)| x MEX 260]  (330) x MEX (7.790) (70 k)
1714 3 B R 39,500 (102, 100)| 36,590 (99, 190) |+ 360 (910)] xmEE 330 (880) xmEX 7.79|  70xmE®
ME o1 2&R[ | 102100 (180,060)| 98,190 (177, 150) |+ 910] (1, 690)| x IE® 880] (1,660) x MEX
SED w| | 180, 060 177, 150 +[ 1,600 xmex | 1,660 X NEE




. o HEREME EREREME
o% | ears | BE| #wxs -
WBREEMHE | RBEES
= ox1) | mE 1
[©) @ © @ ©)
ImULR
8 +| 54,250
Tox 3 ® % 82.5301 4 | 470 sk
T | 32 |12 2ER + 52, 530
a [
ImULR
IAPN 28 + 30, 560
NS 3 m B 28, 840 + 230 X N =
20A - |1 2®R 28, 840
Gl N R " :
ImULR
21N 28 + 22,670
NS 3 ®m & 20,9501\ | 450 pagak
0 e lag |1 2BR +| 20950
FE T |n gl T N '
IRULR
BN om 3@3 = HKERBOEMES | |[KBREOEREA i A
n % R FEFE 5K FATELH : —+ 110X NS
0 lag |1 28R +| 17,000
FC 7 g " ~ 2108 ~ 210K '
1EULR 266, 900 2, 660 X MEE
“A | oe +| 16350
NS A 14,630} 90 x
sor | |1 2me 1A~ 279 21 A~ 279A o 14630
ET |77 g B 285, 800 2 850 X MNE K '
ImULR
51 2 +| 1470
e |23 & ® 280A~ 3490 280~ 349 13,050 | gpx e
60 T 323, 700 3,230 % MK 13050
T | 3% ) = + )
IRmULR 350A~ 419 350~ 4194
1A = +| 13640
we |3 & = 361, 600 3,610x MEE 9200 | eoxms
e | ag |1 2BR +| 1192
FT |07 g 3 420 A~ 489N 420 A~ 489A '
IHUER 399, 600 3,090 X MK
A | 0e +| 12800
N A 10808 1 gox sk
oor | |1 2me 490 A~ 5BIA 490 A~ 5BIA ol 11 om0
=T | 7 g [ 437,500 4, 370X MEE '
ImULR
1A = +| 12140
e | P 3 & ® 560A~ 629K B60A~ 6290 £AMAED 10,4200 || g
90N 1. 2mR 475, 400 4,750 X MEE FIRTE L% 10,420
xc |33 g & + .
20/100 g 7| . N N
% [To |, |[ARALR 630 A~ 699N 630A~ 699A
» |7 ls m o m 513, 300 5, 130 x g %=
ox [l 2me
FT %7 g B 700A~ 7691 700~ 769
0Ix | og [ABAEE 551, 200 5, 510 % MK
) 3 & R
noa | 2me TI0A~ 839 70X~ 839A
FT | 7 g [ 589, 100 5, 890 X ML E
A | gz |“BIAER
) 3 B R 8404~ 909N 840A~ 909
1200 1. 2BR 627,100 6, 270 % MK
e | ¥l
N ~ [4amure 910A~ 9794 910A~ 9791
25
S 3 & R 665, 000 6, 650 X MIEE
oA | 2me
FT |77 g 3 980 A~1, 049 A 980 A~1, 049 A
15TA | gz |ABAER 702, 900 7,020 % B %
) 3 & R
oA o 2R 1, 050 A~ 1, 060 A~
=T | 7 g [ 740, 800 7, 400 x MEE
1A | g [AEEER]  \[ |
) 3 & R
oA || 2me
T T g
a [
ImULR
BIA | 0m
»s |78 & R
100A |1 2me
a [
ImULR
1BIA | 0m
o e A
ma || 2me
a [
o |4 BELER
A | Tl & o=®
BE | T 2R
=2
a [




F— LRHFMEME

i A E fn Fn
ot . X158 22ORAERAHICHLT2ERATLELD ARRAE NS SEHmE
o BE BRI NE e mELE
wa | EAES | S| #BES : S - I L
Btk RA R HHBEER ) SBAHER T BEER )
o1 o gmw (e e Bon 2 & | gmE e & Bo
® @ ©) @ @) @ ®
g |4BEER atuig | 31,600] 35 200 22,100] 22, 100
=
3 m R ~ 15A bt | 17,400) 19,400 12,200 12, 200
320 X AN & X 14,400 | 15,900 | 10, 100 | 10, 100
e as |1. 2#R| |32 000x mEAHK I < e A o drish | 15,200 16,900| 10,600 10, 600
SlED I diis | 13,600] 15,100] 9,500 9, 500
A )g |AEULR attuig | 15,800] 17,600] 11,000] 11,000
"o 3 B R 16 A~ 254 bt = 87000 9,700 6 100 6, 100
190 X AN & X 7,200 | 7,900 | 5,000 | 5,000
204 g |1 2R |19, 200x MEAK I e A cHfii | 7,600 8 400| 5 300/ 5,300
L I 7 I diis | 6,800 7,500/ 4,700 4 700
oA g |4BEER atuig | 10,900] 12,200] 7,600 7,600
=
" 3 m R 26A~ 35A bt | 6000 6 700 4,200 4 200
130 X AN & X 5,000 | 5,500 | 3,500 | 3,500
30N gz |1 2ER 13, 710 X e A % I e A cihi | 5,200 5,800 3,600 3 600
FT |7 n I diis | 4,700] 5 2000 3300 3 300
1A s |AEULR ati® | 9,800] 10,900] 6,800 6, 800
" 3 m R 36A~ 45N b | 5400 6,000 3,700 3, 700
100 X AN & X 4,400 | 4,800 | 3,000 | 3,000
40N gz |1 2R 10, 660 % fnEC A % I e A cii | 4,700/ 5,200 3,300 3 300
L I 7 I dids | 4,2000 46000 2900 2 900
A g |4BELER atui® | 8800 9 800] 6 1000 6 100
=
" 3 ® R 46 A~ 60A bt | 4,800 5 400| 3,400 3,400
80 X B = x 4,000 | 4,400 | 2,800 | 2 800
50 A e |1 2ER 8, 000 % fnfe A % IS ME A cHuts | 4,200 4,700 2 900 2 900
L sl B I diis | 3,800 4 2000 2600 2 600
51 A s |AEMLR ati® | 7,2000 8 100] 5 1000 5, 100
" 3 B R 61 A~ 75A bt | 4,000 4 400 2,800 2, 800
60 X A& = x 3,300 | 3,600 | 2,300 | 2 300
60A e |1 2E| | 6400 mEAK I e A cHi | 3500 3,800 2 400 2, 400
L Rl I dids | 3,100] 3,400/ 2100 2 100
61 A s |AEULR atl® | 6,300 7,100 4,400 4 400
" 3 B R 76 A~ 90A bt | 3,500 3,900| 2 400 2, 400
50 X = x 2,800 | 3,100 | 2,000 | 2, 000
70N e |1 2ER 5, 330  INEE A %K I e A cHbi | 3,000 3,400 2,100 2 100
FT 7 g I dids | 2,700] 30000 1,900 1,900
A s |AEULR atl® | 7,1000 7,900] 4,900 4, 900
"o 3 B R 91 A~ 1054 bt | 3,900 4,300 2700 2 700
40X B = x 3,200 | 3,600 | 2,200 | 2 200
80A e |1 2ER 4, 570  InEE A% I e A cHbi | 3,400 3,800 2,300 2 300
L I 7 I dids | 3,000 3400/ 2100 2 100
81 A e |4BULR atl® | 6,300 7,100] 4,400 4 400
" 3 B R 106A~ 1204 bt | 3,500 3,900| 2 400 2, 400
40X B = x 2,900 | 3,200 | 2,000 | 2, 000
90A ge | 1. 2E| | 4 000x &AL I e A cHi | 3,000 3,400 2100/ 2 100
20/100 FT 7 g I3 dids | 2,700] 30000 1,900 1,900
i [ gy g |4BEER atl® | 5500 6 200 3,900 3, 900
=
" 3 B R 121 A~ 1354 bt | 3,000 3,400 2 100 2 100
30X B = x 2,600 | 2,800 | 1,800 | 1,800
100A oo [T 2mB| | 3550 mEAMK I AN o | 2,600 2900 1,800/ 1,800
FT 7 g I dids | 2,400) 2600/ 1,600 1,600
101A | g |4 BEER atwsh | 6,100) 6 800[ 4,200] 4,200
s 3 ® R 136 A~ 1604 bt | 3,300 3,700 2,300 2 300
30X B = x 2,800 | 3,100 | 2,000 | 2,000
MOA oo |1 2R| | 3200 HmE A I AN cHhig | 2,900 3,200 2 000 2 000
T |7 n I dids | 26000 2900/ 1,800 1,800
MA | e [4ERLER a#ui | 55000 6 200] 3,900 3,900
=
Fr 3 ® R 151 A~ 180.A bt | 3,000 3,400 2,100 2 100
20 X & x 2,600 | 2,800 | 1,800 | 1,800
1208 | oo |1. 2mR| | 2 660xmEAM I AN cHhig | 2,600 2900 1,800/ 1,800
L I Y I dids | 2,400) 2600/ 1,600 1,600
121A | g |[4EEER atwsh | 5100 5 700] 3,500] 3 500
no 3 B R 181 A~ 210A bt | 2,800 3,100 1,900 1,900
20X B & x 2,400 | 2,600 | 1,600 1,600
180A oo 1 2me| | 2 280x mEAM > AN o | 2400 2 700 1,700/ 1,700
L I 7 I dids | 22000 2400/ 1,500 1,500
1BIA | gm |[4BEEER atwih | 5500 6 200] 3,900] 3 900
s 3 m R 211 A~ 2404 bt | 3,000 3,400 2 100 2 100
20 X B x 2,600 | 2,800 | 1,800 1,800
1A 1o 1. 25| | 2000x mEAK X R AN cHhig | 2,600 2900 1,800/ 1,800
T %7 In I dids | 2,400 2600/ 1,600 1,600
A | e |[4BRLER a#ui | 54000 6 000] 3,700 3,700
=
" 3 B R 241 A~ 270X bt | 2,900 3,300 2,000 2 000
10 % fnE s x 2,400 | 2,600 | 1,700 | 1,700
150A 1o 1. 2| | 1.770x mEAK I > AN cHhig | 2,500 2800 1,800/ 1,800
L I 7 I dids | 2,300] 25000 1,600 1,600
BIA | g |[4BEEER atwsh | 4,800 5 400] 3,400[ 3 400
ne 3 B R 271 A~ 300.A bt | 2,600 2 900| 1,800 1,800
10X AN & x 2,200 | 2,500 | 1,500 1,500
160A | oo 1. 2| | 1600 mEAK I > AN o | 2,300 2500 1,600/ 1,600
L I 7 I dids | 20000 2300 1,400 1,400
1614 | g |4BELER atul® | 5400 6 000 3,700 3, 700
=
s 3 ®m R 301 A~ bt | 2,900 3,300 2000 2 000
10X AN & X 2,400 | 2,600 | 1,700 | 1,700
a1 2| |1 es0xmEAR I > AN o | 2500 2 800| 1,800 1,800
T |7 n I dids | 2,300] 25000 1,600 1,600
g |4BELER atls | 4,800 5 400] 3,400 3,400
=2 ) 5
1714 3 m R 2300 | 2,500 | 1 600 | 1,600 bt | 2,600 2 900| 1,800 1,800
BE |1 2R cti | 2300] 2500 1,600 1,600
SlED I3 dids | 20000 2300 1,400 1,400
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=
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L I 7 I3 dids | 22000 2400/ 1,500 1,500
1BIA | ge |[4BRLER a#ui | 55000 6 200] 3,900 3,900
=
s 3 ® R 211 A~ 2404 bt | 3,000 3,400 2 100 2 100
+| 10X MEE X MEA 2,600 | 2,800 | 1,800 1,800
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=
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7oA [T 2| |1 s0xmEAR I3 A M o | 2500 2 800| 1,800 1,800
L sl B I3 dids | 2,300] 25000 1,600 1,600
g |4MEER atls | 4,800 5 400] 3,400 3,400
=
1714 3 ® R 2300 | 2500 | 1,600 | 1. 600 bt | 2,600 2 900| 1,800 1,800
AE oo 11, 2mR cti | 2300] 2500 1,600 1,600
SlED I3 dids | 20000 2300 1,400 1,400
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GE1) GET) GE1) GET) sl
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P 4 ER 221,220 (228,190)| 173,810 (180, 780) |+ 2,190 (2,250) xmm&EX 1,710 (1,770) | xm&E=X (6, 970) (60x hn&EXR)
3 ® R 228,190 (285, 060)| 180,780 (237, 650)(+ 2,250| (2,730) xmn&E=x 1,770] (2,260) xm&ExX 6, 970 60 X MNEXR
10N 3 1. 2mR 285, 060| (354, 840)| 237,650 (307, 430) |+ 2,730 (3,430) xpn&E=x 2,260| (2,960)| xmEXR
FT i 2, U] 354, 840 307, 430 + 3, 430 X B R 2, 960 X NE R
A | o |#BALER| | 120,020] (126,090)[ 96,820 (103, 280)| +|  1,180] (1, 240)| x B 940] (1,000)] x p#E |+[ (6,970)] (60 M)
" 3 ® B 126,990| (183, 860)| 103,290 (160, 160) |+ 1,240 (1,720) Xmn&EX 1,000] (1,480) xm&Ex 6, 970 60 X MNE xR
20N 38 1. 2mR 183,860 (253, 640)| 160, 160| (229, 940) | + 1,720 (2,420)| xpn&E=x 1,480 (2,180) xjpn&E=x
ET i 2 U] 253, 640 229, 940 + 2,420 X B R 2,180 X NE R
21 A 05 4 LR 86, 190 (93, 160) 70, 390 (77, 360) | + 840 (900) | xfmnEX 680 (740) | xEX (6, 970) (60x hn&EX)
" 3 ® R 93, 160| (150, 030) 77,360 (134, 230) [+ 900| (1,380)| X n&EX 740) (1,220) | xmm&ExR 6, 970 60 X MNE xR
30N 38 1. 2mR 150, 030| (219, 810)| 134,230 (204, 010) |+ 1,380 (2,080)| xmn&E= 1,220 (1,920) xpn&E=
ET ~ 2 U] 219, 810 204, 010 + 2,080 X B R 1,920 X NE R
31A Py 4l ER 69, 420 (76, 390) 57,570 (64, 540) | + 670 (730) | xmn&EX 550 (610) | xmExX (6, 970) (60x hn&EX)
i 3 ® R 76, 390| (133, 260) 64,540 (121, 410) [+ 730| (1,210)| X fn&Ex 610 (1,100) | xm&E=xR 6, 970 60 X MNE xR
40N 38 1. 2®mR 133,260 (203,040)| 121,410/ (191,190) |+ 1,210/ (1,910) | xpn&E=X 1,100 (1,800) xjpn&E=
ET i 2, U] 203, 040 191, 190 + 1,910 X B R 1, 800 X INE R
41 A Py 4l ER 64, 480 (71, 450) 54,990 (61, 960) | + 620 (680) | x mN&EX 530 (590) | xmMEXR (6, 970) (60x hn&EX)
i 3 ® B 71, 450| (128, 320) 61,960 (118,830)(+ 680| (1,160)| X n&E=X 590| (1,070)| xm&E=x 6, 970 60 X MNE R
50N 38 1. 2mR 128,320/ (198,100)| 118,830 (188,610)|+ 1,160 (1,860) Xxpn&EX 1,070 (1,770) xmm&EX
ET i 2 U] 198, 100 188, 610 + 1, 860 X NER 1,770 X NE R
51 A Py 4 LR 56, 390 (63, 360) 48, 480 (b5, 450) | + 540 (600) | xfNEX 460 (520) | xmNEXR (6, 970) (60x hn&EX)
i 3 ® R 63, 360| (120, 230) 55,450 (112, 320) [+ 600| (1,080)| X n&E=X 520| (1,000) | xmm&ExR 6, 970 60 X MNEXR
60N 38 1. 2®mR 120, 230| (190,010)| 112,320 (182, 100) |+ 1,080 (1,780) Xxpn&EX 1,000 (1,700) xmm&ExX
ET i 2 U] 190, 010 182, 100 + 1,780 X B R 1, 700 X NE R
61 A Py 4l ER 50, 690 (57, 660) 43,910 (50, 880) | + 480 (540) | xNEX 420 (480) | xmE=XR (6, 970) (60x hn&EX)
s 3 ® R 57,660| (114, 530) 50,880 (107, 750) [+ 540( (1,030)| X n&E=X 480 (960) | xm&ExX 6, 970 60 X MNEXR
70N 38 1. 2®mR 114,530 (184,310)| 107, 750 (177,530)|+ 1,030 (1,730)| xpn&E=X 960| (1,660)| x &=
ESS i 2, U] 184, 310 177, 530 + 1,730 X B R 1, 660 X NE R
VADN Py Al ER 46, 460 (53, 430) 40, 530 (47,500) | + 440 (500) | xmNEX 380 (440) | xmME=XR (6, 970) (60x hn&EX)
ne 3 ® R 53,430| (110, 300) 47,500 (104, 370) [+ 500 (980) | x fn&E=x 440 (930) | xfnEX 6, 970 60 X MNE R
80N 38 1. 2mR 110,300/ (180,080)| 104,370 (174,150)|+ 980| (1,680) XxmmEXR 930 (1,630)| XmMEXR
ET i 2 U] 180, 080 174,150 + 1, 680 X B R 1,630 X NE R
81 A Py 4 ER 43,130 (50, 100) 37, 860 (44, 830) | + 410 (470) | xmEX 360 (420) | xmE=XR (6, 970) (60x hn&EX)
s 3 ® R 50, 100| (106, 970) 44,830 (101, 700) [+ 470 (950) | x fn&E=x 420 (900) | xm&ExX 6, 970 60 X MNEXR
90N 38 1. 2mR 106, 970/ (176, 750)| 101,700 (171, 480)|+ 950/ (1,650) XxMEXR 900 (1,600)| xXmMEXR
6/100 =T i 2, U] 176, 750 171, 480 + 1, 650 X NER 1, 600 X NE R
35 91 A e Al ER 37, 460 (44, 430) 32,720 (39, 690) | + 350 (410) | xmEX 300 (360) | xmEXR (6, 970) (60x hn&EX)
s = 3 ® R 44, 430| (101, 300) 39, 690 (96, 560) | + 410 (890) | x pn&E=x 360 (850) | xm&EX 6, 970 60 X MNEXR
100N o |1, 2®R 101, 300/ (171, 080) 96, 560| (166, 340) | + 890/ (1,590) Xxmm&EXR 850 (1,550)| XmMEXR
ESS 35 2, U] 171, 080 166, 340 + 1, 5690 X fNE R 1, 5650 X NE R
101 A 0 4l ER 35, 590 (42, 560) 31, 280 (38, 250) | + 330 (390) | xnEX 290 (3650) | X NEXR (6, 970) (60x hn&ExX)
s 3 & R 42, 560 (99, 430) 38, 250 (95,120) | + 390 (880) | x fn&E=x 350 (830) | xm&E=x 6, 970 60 X &R
110N o |1, 2®mR 99, 430, (169, 210) 95,120 (164, 900) | + 880/ (1,580) xmm&EXR 830 (1,530)| xXmMEXR
T | 35 |y w| | 169, 210 164, 900 +| 1,880 x sk | 1,530 X g
1M1A 0 4mULER 34, 000 (40, 970) 30, 040 (37,010)| + 320 (380) | xnEX 280 (340) | xmmEXR (6, 970) (60x hnEX)
i 3 % B 40, 970 (97, 840) 37,010 (93, 880) | + 380 (860) | x fn&E=x 340 (820) | xm&EX 6, 970 60 X MNE R
120N o |1, 2®mR 97,840 (167, 620) 93,880 (163, 660) | + 860| (1,560) XxmmEXR 820 (1,520)| xXmMEXR
ET 35 2, U] 167, 620 163, 660 + 1, 560 X B R 1,520 X NE R
121 A Py Al ER 32, 650 (39, 620) 29, 000 (385, 970) | + 300 (360) | xmnEX 270 (330) | xmE=XR (6, 970) (60x hn&EX)
s 3 ® B 39, 620 (96, 490) 35, 970 (92, 840) | + 360 (850) | x fpn&Ex 330 (810) | xm&E=x 6, 970 60 X MNEXR
130N o |1, 2®R 96, 490 (166, 270) 92,840 (162, 620) | + 850| (1,550) Xxm&EXR 810 (1,510)| xXmMEXR
ESS 35 2, Ui 166, 270 162, 620 + 1, 650 X NE R 1,510 X NE R
131 A Py Al ER 31, 520 (38, 490) 28, 140 (35, 110) | + 290 (350) | X fNEX 260 (320) | xmEXR (6, 970) (60x hn&EX)
i 3 ® B 38, 490 (95, 360) 35,110 (91, 980) | + 350 (840) | x pn&E=x 320 (800) | xm&EX 6, 970 60 X MNEXR
140N o |1, 2®mR 95,360 (165, 140) 91,980 (161, 760) |+ 840| (1,540) xmmEXR 800 (1,500) | xXmMEXR
ET 35 2, Ui 165, 140 161, 760 + 1, 540 X B R 1,500 X NE R
141 A 05 4 ER 30, 530 (37, 500) 27,370 (34, 340) | + 280 (340) | xn&EX 250 (310) | xmmEXR (6, 970) (60x hn&EX)
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3 ® R 223,430 (279,070)| 177,070 (232, 710) [+ 2,200 (2,680) xpn&E=x 1,740| (2,210) xm&ExX 6, 800 60 X MNEXR
10N 38 1. 2mR 279,070 (347,090)| 232,710/ (300, 730) | + 2,680 (3,360) Xxjpn&E=x 2,210| (2,890) | xmER
ET i 2, U] 347,090 300, 730 + 3, 360 X NER 2,890 X NE R
1A Py 4l ER 117,520| (124, 320) 94,340 (101, 140) | + 1,150 (1,210) | xXpn&EX 920 (980) | xmEXR (6, 800) (60 X poE =)
i 3 ® B 124,320/ (179,960)| 101,140 (156, 780) |+ 1,210, (1,690) Xxm&Ex 980 (1,450) | xm&ExR 6, 800 60 x INE R
20N 38 1. 2mR 179,960 (247,980)| 156, 780| (224, 800) |+ 1,690 (2,370)| xmn&E=X 1,450 (2,130) xpn&E=x
ES = 2 U] 247,980 224, 800 + 2,370 X NER 2,130 X NE R
21 A Py 4l ER 84, 390 (91, 190) 68, 930 (75, 730) | + 820 (880) | xfmnEX 670 (730) | xmmE=XR (6, 800) (60 X pnEXK)
" 3 ® R 91,190| (146, 830) 75,730 (131,370) [+ 880| (1,350)| X N&EX 730| (1,200) | xm&Ex 6, 800 60 X MNE xR
30N 38 1. 2mR 146,830 (214, 850)| 131,370 (199, 390) | + 1,350 (2,030)| xmn&E=X 1,200 (1,880) xjpn&E=x
T i 2 U] 214, 850 199, 390 + 2,030 X NER 1, 880 X NE R
31A Py 4l ER 67, 940 (74, 740) 56, 350 (63, 150) | + 660 (720) | xmn&EX 540 (600) | xmNEXR (6, 800) (60 X pnEXK)
s 3 ® R 74, 740| (130, 380) 63,150 (118, 790) [+ 720| (1,190)| X fn&=x 600| (1,070)| xm&E=x 6, 800 60 x INE R
40N 38 1. 2®mR 130, 380 (198, 400)| 118,790 (186, 810)|+ 1,190/ (1,870)| xpn&E=X 1,070 (1,750) | xpn&E=
ET i 2, U] 198, 400 186, 810 + 1,870 X NER 1, 750 X INE R
4A Py 4l ER 63, 080 (69, 880) 53, 810 (60, 610) | + 610 (670) | xmEX 510 (570) | xmMEXR (6, 800) (60 X poEXK)
i 3 ® B 69, 880| (125, 520) 60,610 (116, 250) [+ 670 (1,140)| xn&E=xR 570| (1,050) | xm&EXR 6, 800 60 x & R
50N 38 1. 2mR 125,520 (193,540)| 116,250 (184, 270)|+ 1,140 (1,820)| xpn&E=X 1,050 (1,730) xpn&E=
ET i 2 U] 193, 540 184, 270 + 1,820 X NER 1,730 X NE R
51 A Py 4l ER 55, 160 (61, 960) 47, 440 (54, 240) | + 530 (590) | xEX 450 (510) | xmMEXR (6, 800) (60 X poEXK)
s 3 ® R 61,960| (117, 600) 54,240 (109, 880) [+ 590| (1,060)| X n&EX 510 (980) | xm&Ex 6, 800 60 x INE R
60N 38 1. 2®mR 117,600/ (185, 620)| 109,880 (177,900)|+ 1,060 (1,740)| xpn&E=X 980| (1,660)| x &=
ET i 2 U] 185, 620 177, 900 + 1, 740 X NER 1, 660 X NE R
61 A Py 4l ER 49, 590 (56, 390) 42,970 (49, 770) | + 470 (530) | xNEX 410 (470) | xmE=XR (6, 800) (60 X pnEXK)
i 3 ® R 56, 390| (112, 030) 49,770 (105, 410) [+ 530 (1,010)| X n&EXR 470 (940) | xm&ExX 6, 800 60 x INE R
70N 38 1. 2®mR 112,030 (180, 050)| 105, 410 (173, 430) |+ 1,010/ (1,690)| xpn&E= 940! (1,620)| x &=
eSS i 2, U] 180, 050 173, 430 + 1,690 X NER 1,620 X NE R
VAP Py Al ER 45, 460 (52, 260) 39, 660 (46, 460) | + 430 (490) | xmnEX 370 (430) | xmEXR (6, 800) (60 X pnE =)
i 3 ® R 52, 260| (107, 900) 46, 460 (102, 100) [+ 490 (960) | x fn&Ex 430 (910) | xm&E=x 6, 800 60 x INE KR
80N 38 1. 2mR 107,900/ (175,920)| 102,100 (170, 120)|+ 960| (1,640)| xpn&EXR 910| (1,590) | x &=
T i 2 U] 175, 920 170,120 + 1, 640 X NER 1,590 X NE R
81 A Py Al ER 42, 200 (49, 000) 37, 050 (43, 850) | + 400 (460) | x NEX 350 (410) | xmME=XR (6, 800) (60 X pnE =)
s 3 ® R 49, 000| (104, 640) 43, 850 (99, 490) | + 460 (930) | x fn&E=x 410 (880) | xm&EX 6, 800 60 x INE KR
90N 38 1. 2mR 104, 640 (172, 660) 99,490 (167,510) | + 930| (1,610)| xpn&EXR 880| (1,560)| x &=
3/100 FT i 2, U] 172, 660 167,510 + 1,610 X NER 1, 560 X NE R
i [ g |, [4BMER 36,600 (43 490)| 382,050 (38,850)|+|  340] (400) xNFE 300] (360) | x pngE |+ (6,800)[ (60 xmEE)
i = 3 ® R 43, 490 (99, 130) 38, 850 (94, 490) | + 400 (880) | x fn&E=x 360 (830) | xfnEX 6, 800 60 x INE KR
100N 38 1. 2mR 99,130 (167, 150) 94,490 (162, 510) | + 880| (1,560) | X n&E=XR 830| (1,510)| xm&EXR
eSS i 2, U] 167, 150 162, 510 + 1, 560 X NER 1,510 X NE R
101 A 0 4l ER 34, 860 (41, 660) 30, 640 (37, 440) | + 330 (390) | xnEX 280 (340) | xmMEXR (6, 800) (60 X pnEXK)
i 3 & R 41, 660 (97, 300) 37, 440 (93, 080) | + 390 (860) | x fn&E=x 340 (820) | xm&Ex 6, 800 60 X fHE X
110N 38 1. 2mR 97,300 (165, 320) 93,080 (161, 100) |+ 860| (1,540)| X N&E=XR 820| (1,500)| x&ExR
FT |77 g B| | 165 320 161, 100 +| 1540 x gk | 1,500 X P
11A 0 4l ER 33, 300 (40, 100) 29, 430 (36, 230) | + 310 (370) | xmEX 270 (330) | xmmEXR (6, 800) (60 x pnEXK)
s 3 & B 40,100 (95, 740) 36, 230 (91, 870) | + 370 (840) | x fn&E=x 330 (800) | xm&EX 6, 800 60 x INE KR
120N o |1, 2®mR 95,740 (163, 760) 91,870 (159, 890) | + 840| (1,520)| x n&E=XR 800| (1,480)| xmm&EXR
T [ 3% |y 5| | 163 760 159, 890 +|_1.520 XIS | 1,480 X Mg
121 A Py Al ER 31,980 (38, 780) 28, 410 (385, 210) | + 300 (360) | xmnEX 260 (320) | xmEXR (6, 800) (60 X pOEK)
s 3 ® B 38, 780 (94, 420) 35, 210 (90, 850) | + 360 (830) | x fn&E=x 320 (790) | xm&Ex 6, 800 60 x INE KR
130N 38 1. 2mR 94,420 (162, 440) 90, 850| (158, 870) | + 830( (1,510)| xn&E=XR 790| (1,470)| X mEXR
ET i 2, Ui 162, 440 158, 870 + 1,510 X NER 1,470 X NE R
1BIA | g |4BEER 30,870 (37,670)| 27,560 (34,360)|+|  290] (350) xFE 250 (310)] x gk |+ (6,800)[ (60 xmE )
i 3 ® B 37,670 (93, 310) 34, 360 (90, 000) | + 350 (820) | x fpn&E=x 310 (790) | xm&Ex 6, 800 60 x INE KR
140N 38 1. 2mR 93,310 (161, 330) 90, 000| (158, 020) | + 820| (1,500)| X n&E=x 790| (1,470)| X mEXR
eSS i 2, Ui 161, 330 158, 020 + 1, 500 X NER 1,470 X NE R
A | gz |4BELER 29,900] (36, 700)| 26,810 (33, 610)|+|  280] (340) xFE 240]  (300)| x gk |+ (6,800)[ (60 x mEE)
s 3 ® B 36, 700 (92, 340) 33,610 (89, 250) | + 340 (810) | x fn&E=x 300 (780) | xm&EX 6, 800 60 x INE KR
150N 38 1. 2mR 92,340 (160, 360) 89, 250 (157, 270) |+ 810| (1,490) | xn&E=xR 780 (1,460) | X mMEXR
ET i 2, Ui 160, 360 157, 270 + 1, 490 X NER 1, 460 X NE R
15IA | o |4BELER 29,910 (36,710)| 27,010 (33, 810)|+|  280] (340) xFE 250]  (310)] x gk |+ (6,800)[ (60 xmEE)
) 3 ® B 36, 710 (92, 350) 33,810 (89, 450) | + 340 (810) | xfn&E=x 310 (780) | xfn&Ex 6, 800 60 X MNEXR
160N 38 1. 2R 92,350 (160, 370) 89,450 (157, 470)| + 810( (1,490) | xn&E=xR 780| (1,460) | X mMEXR
ET i 2, Ui 160, 370 157, 470 + 1, 490 X NER 1, 460 X NE R
1614 | o |4BELER 29,120 (35, 920)| 26,390 (33 190)|+| 270 (330) xFE 240]  (300)| x gk |+ (6,800)] (60 xmE )
i 3 % B 35, 920 (91, 560) 33,190 (88, 830) | + 330 (800) | x fn&E=x 300 (770) | xmn&Ex 6, 800 60 X fiE X
170N 38 1. 2mR 91,560| (159, 580) 88,830 (156, 850) | + 800| (1,480)| X n&E=XR 770) (1,450) | X MEXR
ET i 2, U] 159, 580 156, 850 + 1, 480 X MNER 1, 450 X NE R
Py 4l ER 28, 400 (35, 200) 25, 830 (32, 630) | + 260 (320) | xfmnEX 240 (300) | xmEXR (6, 800) (60 x pnExK)
17T A 3 ® B 35, 200 (90, 840) 32, 630 (88, 270) | + 320 (790) | x pn&E=x 300 (770) | xm&Ex 6, 800 60 x & R
N ENYY T 90,840 (158,860)| 88,270 (156, 290) |+ 790 (1,470) x gz 770 (1, 450) | x mE®
i i 7 158, 860 156, 290 + 1,470 X NER 1, 450 X NE R
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o K15 - 25 OMMEAATCIE LT2SHAF L LD - N
B | eaxs | BE | Emxs B ISINE MEEE MEEE
= == LEREE B HAEE B HAEE
o1 o gmw (e e Bon 2 & | gmE e & Bo
® @ ©) @ @) @ ®
g |4BEER atuig | 31,600] 35 200 22,100] 22, 100
=
3 m R ~ 1A bt | 17,400) 19,400 12,200 12, 200
+| 270 x R x mEA 14,400 | 15,900 [ 10, 100 | 10, 100
T0A ae |10 28RB| | 27860 mEAM D3 e A2 c #i3g | 15,200 16,900| 10,600| 10, 600
L Rl I diis | 13,600] 15,100] 9,500 9, 500
A g |4BEER attuig | 15,800] 17,600] 11,000] 11,000
=
"o 3 B R 16 A~ 254 bt = 87000 9,700 6 100 6, 100
+| 160X B R x AR A 7,200 | 7,900 | 5,000 5,000
200 gm |1 2ER 16, 720 X i A % P B A cHhi | 7,600 8 400| 5,300 b5, 300
L I 7 I diis | 6,800 7,500/ 4,700 4 700
21 A g |4BEER atuig | 10,900] 12,200] 7,600 7,600
=
"o 3 B R 26A~ 35A bt | 6000 6 700 4,200 4 200
+| 110X MEE x mEA 5,000 | 5,500 | 3,500 | 3,500
30N gm | 1. 2ER 11, 940 X fnic A % P B A cHbi | 5,200 5 800| 3,600 3, 600
L I 7 I diis | 4,700] 5 2000 3300 3 300
31 s |AEULR ati® | 9,800] 10,900] 6,800 6, 800
" 3 B R 36A~ 45N b | 5400 6,000 3,700 3, 700
+| 0% mMER X MEA 4,400 | 4,800 | 3,000 3,000
40 e |12 28E| | 9 280xINEAHK P A A o | 4,700 5200 3 300/ 3,300
T %7 n I dids | 4,2000 46000 2900 2 900
A g |4EULR atui® | 8800 9 800] 6 1000 6 100
" 3 ® R 46 A~ 60A bt | 4,800 5 400| 3,400 3,400
+|  60xmE®EX 4,000 | 4,400 | 2,800 | 2, 800
50 A s |1 2ER 6, 960 x fnfE A % ISR ME A cHl | 4,200 4,700 2,900 2 900
FT 7 g I diis | 3,800 4 2000 2600 2 600
51 A s |AEULR ati® | 7,2000 8 100] 5 1000 5, 100
" 3 B R 61 A~ 75A bt | 4,000 4 400 2,800 2, 800
+|  50xmE®EX 3,300 | 3,600 | 2,300 | 2 300
60A ge |1 2ER 5,570  InEE A %K I e A cihig | 3,500 3,800 2 400 2 400
L sl I dids | 3,100] 3,400/ 2100 2 100
61 A rg |AEULR atl® | 6,300 7,100 4,400 4 400
"o 3 B R 76 A~ 90A bt | 3,500 3,900| 2 400 2, 400
+| 40X MER X MEA 2,800 | 3,100 | 2,000 2 000
70N s |1 2R | 4640 MEAK P B A cHul | 3,000 34000 2 100/ 2 100
Ll I 7 I dids | 2,700] 30000 1,900 1,900
A g |AEULR atl® | 7,1000 7,900] 4,900 4, 900
"o 3 B R 91 A~ 1054 bt | 3,900 4,300 2700 2 700
+|  30xmMER X MEA 3,200 | 3,600 | 2,200 2, 200
80N g2 [1. 28R 3, 980 < fin&e A # P B A cHbi | 3,400 3,800| 2300 2 300
T %7 n I dids | 3,000 3400/ 2100 2 100
81 A g |AEULER atl® | 6,300 7,100] 4,400 4 400
" 3 B R 106A~ 1204 bt | 3,500 3,900| 2 400 2, 400
+| 30X MNEE X mEA 2,900 | 3,200 | 2,000 2 000
90A s |1 2R | 3480 mMEAK P A A cHul | 3,000 3,400 2 100/ 2 100
3/100 FT 7 g I dids | 2,700] 30000 1,900 1,900
i [ gy g |4BEER atl® | 5500 6 200 3,900 3, 900
=3
s 3 B R 121 A~ 1354 bt | 3,000 3,400 2 100 2 100
+| 30X MNEE X mEA 2,600 | 2,800 | 1,800 1,800
100A oo (1. 2mm| | 3090 mEAMK I3 e A M o | 2,600 2900 1,800/ 1,800
T n I dids | 2,400) 2600/ 1,600 1,600
0A | g |[4ERLER atui | 6,100] 6 800] 4,200 4,200
=
" 3 ® R 136 A~ 150.A bt | 3,300 3,700 2,300 2 300
+|  20xmE®x 2,800 | 3,100 | 2,000 | 2,000
non o1 2| | 2 7s0xmEAR > R AN o | 2900 3200 2,000 2 000
T 7 n I dids | 26000 2900/ 1,800 1,800
MA | e [4ERLER a#ui | 55000 6 200] 3,900 3,900
=
" 3 ® R 151 A~ 180.A bt | 3,000 3,400 2,100 2 100
+|  20x MER X MEA 2,600 | 2,800 | 1,800 | 1,800
1208 | oo [1. 2mR| | 2320 mE A I 3 A M cHhig | 2,600 2900 1,800/ 1,800
L sl B I dids | 2,400) 2600/ 1,600 1,600
121A | g |[4BEEER atwsh | 5100 5 700] 3,500] 3 500
" 3 B R 181 A~ 210A bt | 2,800 3,100 1,900 1,900
+|  10xmE®x 2,400 | 2,600 | 1,600 | 1,600
180A oo [T 2mm| | 1090 mEAK I x AN ' ' ' ' o | 2400 2 700 1,700/ 1,700
L sl B I dids | 22000 2400/ 1,500 1,500
1BIA | ge |[4BRLER a#ui | 55000 6 200] 3,900 3,900
=
" 3 B R 211 A~ 2404 bt | 3,000 3,400 2 100 2 100
+| 10X mER X MEA 2,600 | 2,800 | 1,800 1,800
oA oo [T 2me| |1 740 mEAK I 3 A A M cHhig | 2,600 2900 1,800/ 1,800
L I D I dids | 2,400 2600/ 1,600 1,600
WA | e |[4BRLER a#ui | 54000 6 000] 3,700 3,700
=
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1614 | g |4BELER atul® | 5400 6 000 3,700 3, 700
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+|  10xmER X MEA 2,400 | 2,600 | 1,700 | 1,700
TOA | oo |1 28K | 1.260xmEA%K I3 A M cHhi | 2,500 2,800 1,800/ 1,800
FT 7 g I dids | 2,300] 25000 1,600 1,600
e |4BEER atls | 4,800 5 400] 3,400 3,400
= =) )
1714 3 B R 2,300 | 2.500 | 1,600 | 1. 600 bt | 2,600 2 900| 1,800 1,800
AE oo 11, 2mR cti | 2300] 2500 1,600 1,600
SED I3 dids | 20000 2300 1,400 1,400
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= ) )
17L;\ 3 m R 2300 | 2500 | 1 600 | 1,600 bt | 2,600 2 900| 1,800 1,800
AL 1L 28R cHhig | 2,300 2500 1,600/ 1,600
la I3 dids | 20000 2300 1,400 1,400
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